O Algebra 2
Chapter 1 Self Assessment

’ 1. Using the symbols: N, W, Z, Q, |, and R for each number system, classify the following : l.a. M__W/M

a) 5 b) vZ - | bz;/?

2. State the property of real numbers that is shown. : 2 a/mwof /X,

2t b) 2+ (6+7)=(2+6)+7 - wAsSoctanve Prog

Write an algebraic expression for each statement. )

3. 4 more than th- product of a number and 2 | 4 1
1.9 + AX

4. 2 less than the quotient of a number and 4 x/q o

Simplify the expression.

5. 2:5+32-(9+4) 6. 2x + 3y —4(x +2y) /0
10+9- /3 Ax13y- Ix-8y °

d 195 v
Evaluate the expressioné ZX 5} 6. —ZX "5 5&

; 3aZ2+2b
F T2

301)"+2(2) = 3:;14: Z A
-3)" 9

Solve the equatioa.

8. 5m — (5+ 4m) = (3+m) — 8 9. Sx+2=3x+24 AI%{M
Pm-5 -Um = Ftm-8§ RAX= A 8. S
Mm-5= m-5 X=1]
-S=-5

Solve for the given variable.

whena=1,b=2,¢c=-3

=1]

| —
10. 3x + 5y = 15, fory. 11. V—-n‘r%],,;orh 10-Y=ix+3
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i line.
Solve each ineqaulity and graph the solution on the number

13. -5 <6n—17<13

12. 6—4x>3(x—2) 47 HT +H7

b-4x >3x-0

Z
l2<up*
_vx> "2 b ¢ -6
\< 12 AN E5
< - or v < e 2|—7 :
14. 7vil69_"éz -},1 -y "‘?_'2 I|22:(-+ZI < 2-
"{vi-ﬁ? OF v>al  uaca -ax-d<d
Vey A x40 “Ax <Y

X<0 AND X2 =2

Solve the absolute value equation. Check your solution.

=2 17. -3+ 212x+ 1| =7

“}_16' ';%EH% =N Sx-4= s A ax+ =10
|Zx+4 =75 px=%2 ax+1[=S

b= x=g Jels

¢ .5 =~ __;35 X =~ K=25

Solve algebraically showing all steps.

18. A Parent Teacher Organization has raised $1800 to help pay for a trip to an amusement park.

Adult tickets are $45 and student tickets are 530. Be sure to define a variable, write an equation,
and solve the problem.

a) Ifthe group wants to take ow many adults can chaperone and stay

:_711.0‘(_ within budget of $1800? 50(30) t X('-IS) f’l?OO

(ldW:}S How much money will be left over if '200 qu—xf'?oo
ow much money will be left over if an qS"X_ 300

[500+4s () J500 X <667
1500 +70 =170 '

19. A student states that the answer toth
Identify the error.

e following question is The side is less than 6 inches.

The lengths of the sides of a trianle are in the ratio 3:4:5. Describe the length of the longest

* 1
ROR D ¥

side if the perimeter is not more than 72 inches.
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